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X BT E KR

il

s
i

\

f@) = — LS
xr) = e 20, —oo<Tr <X
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B EtER (bell shaped, mound shape, &FiK
LR, BIEEREHS (normal curve), HRBE:
ERIS

P(p—o <X <pu+o0)=0.6827
BB 68.27% ) X EREHZEE p —EREEER;
P(p—20 < Xpu+ 20) = 0.9545
AIF 95.45% 1y X EREMEER (AR EER;
P(p—30 <X <pu+30) =0.9973
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AIE 99.73% #J X {ERAEHEERN=EFEZERN, a0
&7

s

1. BRRE
Z ~ N(0,1)

AIHIZE =0 HiZ¥E o = 1 WERERERES, &
VEIEYE S REFE LB BY (standard normal random
variable), HExR.

Ill}l

5t 2. WM&k C #H P(Z < 2) 3 P(Z < 2) B9{E, Bl
7 %IE (—o0,2) B (—o0, 2] ARUHEZ, #t&H, WE
.

B 1. 8 Z~ N(0,1). 3K
(a) P(Z < 1.24)
(b) P(Z > 0.5)

(c) P(0.24 < Z<1.48)
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(d) P(—1.65< Z < 2.02)

<fE> (a) WMEx, X, &
P(Z < 1.24) = 0.8925

(b) WEIR, WEABALER, F

P(Z > 0.5) = P(Z < —0.5) = 0.3085
i

P(Z > 0.5) 1- P(Z<0.5)

1 -0.6915 = 0.3085

(C) WER, &K, =

P(0.24 < Z < 1.48)
= P(Z<1.48) — P(Z <0.24)
= 0.9306 — 0.5948 = 0.3358

(d) WER, X, 5

P(—1.65 < Z < 2.02)
= P(Z<202)-P(Z< —-1.65)
= 0.9783 — 0.0495 = 0.9288
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B 2. % Z~ N(0,1). KD HHE

(a) P(Z < z) = 0.9474

(b) P(Z > z) =0.9115

(c) P(—z2< Z < z)=0.7888

7 z {E.

<> (a) HEIRKEE, &

P(Z <1.62) =0.9474
M 2 =1.62

(b) HERKFENRELN, =

P(Z<2z)=1-0.9115=0.0885

P(Z < —1.35) = 0.0885

4 RS R THRE



EEMES ERBEHE, 1015 1) Bt 55: HESH

ik

Wz = —1.35.

B H B 7~ RCETE
P(Z < —2) = 0.9115

P(Z < 1.35) = 0.9115
# —2=1.35, Al z = —1.35.

(c) HER, =

1-0.7888
P(Z < —2) = 2 = 0.1056

P(Z < —1.25) = 0.1056
H —z=—1.25, Bl » = 1.25.

B & 7w,
1 1
P(Z<z) = §+§P(—z<Z<z)
1
= 2(1+0.7888) = 0.8944
"R, 15

P(Z < 1.25) = 0.8944
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M 2z = 1.25.

HEHAN. B X ~ N(u, o), H
def X —

7 = ~ N(0,1)
o

5

— X — b —
P(a<X<b)=P(a P < P < “)

o o o

_ b —

= P(a P oz < “)
o o

A& ZRKAE, AEDR.

[FIH,

P(X<b):P<Z<b;’u>

H

P(X>a)=P<Z>a_“)

M A] EFRKIE, AE7R.

1 3. X ~ N(100,20), Hl (a) HEHARILES,

120 — 100

P (z < )
20

= P(Z<1)=0.8413

P(X < 120)
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(b) mEmAR, BFR RSB ER,

70 — 100
P(X >70) = P(Z> G )

P(Z > —-15)=P(Z<1.5)
0.9332
HARBRIEE A M ER R AT AR,

P(X > 70) P(Z > —1.5)
1-P(Z<-1.5)
1 —0.0668 = 0.9322

(c) HEHRAKKEREAER,

P(75 < X <110)
75 — 100 110 — 100
P10 4 )

20

P(—1.25 < Z < 0.5)
P(Z < 05) - P(Z < —1.25)
0.6915 — 0.1056 = 0.5859

Bl 4. pgsiEE X ~ N(7.4,1.2) (B #), A
RgEEA, BT ER,
9.2 7.4
P(X >9.2) = P<Z> = )

P(Z >15)=P(Z < —1.5)
0.0663
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B 5. sssEEmER X ~ N(50,0.5) (B B),
Al (a) BN, UM nER,

51 —-50
P(X >51) = P(Z> 0 )

P(Z>2)=P(z< —-2)
0.0228

(b) HBEHRARIL %S,

49 — 50
P(X < 49) =_PQm< — )

= P(Z < —2) =0.0228

(c) IRZFERKFENRELANLER, =

P(49 < X < 51)

1 —P(X >51) — P(X <49)
1 —2(0.0228)

1 —0.0456 = 0.9544

# 6. EEHE GPA (grade-point average, T
SEEH) X ~ N(2.7,0.4). il 10% HWELFE
EEINIRE, BHARFERNKE GPA BA7
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<> & r BEBRHFENRE GPA, (KEE, &
P(X >z) =0.10
BE, BiEERARK,

x— 2.7
P(X>:c):P(Z> - > —0.10
R IR EREE RIS A 2,
P(ng_zj) —1-0.1=0.9
"X, 5

P(Z < 1.28) = 0.8997 ~ 0.9

x—2.7

= 1.28
il

r=(1.28)(0.4) +2.7=13.2
K, ZAFE 3.2 GPA FEEKHEH
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